Q.P. Code :04043

[Time: Three Hours]

Please check whether you have got the right question paper.

[ Marks:100]

N.B: 1. Question.No.1 is compulsory.

2. Solve any four questions from questions number 2 to 8.

3. All questions carry 20 marks each.

4. All working notes should from part of answer.

Q1 The following are the Balance Sheets of Ananda Co. Ltd. for the years ended 31%*March, 2011 and  (20)
31t March, 2012. You are required to prepare a comparative statement and comment on it.
Liabilities 31.3.11(Rs.) | 31.3.12 (Rs.) | Assets 31.3.11(Rs.) | 31.3.12(Rs.)
Equity Share 4,50,000 5,50,000 | Goodwill 1,00,000 1,00,000
Capital
Reserves 80,000 2,00,000 Land and 5,80,000 6,52,000
Building
12% 2,50,000 2,00,000 | Machinery 80,000 4,20,000
preference
share capital
14% 2,00,000 3,00,000 | Furniture 50,000 45,000
Debentures
Capital 65,000 45,000 | Computer 1,20,000 80,000
Reserve
Bank Loan 1,20,000 40,000 | Delivery Van 2,50,000 1,70,000
Creditors 40,000 30,000 | Stock 1,20,000 35,000
Bills Payable 20,000 25,000 | Debtors 45,000 28,000
Proposed 45,000 55,000 | Bills 20,000 20,000
dividend receivable
Provision for 40,000 50,000 | Bank 5,000 25,000
Taxation
Profit and Loss 75,000 80,000 | Share Issue 15,000 nil
account expenses
13,85,000 15,75,000 13,85,000 15,75,000

Q.2 You are furnished with the following information:
Fixed cost for a period Rs. 50,000
Variable cost per unit Rs.100
Selling price per unit Rs.200.
Actual units sold 800 units.

Determine:
1) P/V ratio
2) Break-even point in units and rupees
3) Margin of safety sales in units and rupees
4) Profit if the sales are 1,000 units.
5) Sales, if profit is Rs.15,000.
6) New BEP if selling price increases by 25%
7) New BEP if variable cost decreases by 20%.

(20)
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Ankit Electricals Ltd. supplies you the following information for the year ended 31°* March, (20)
2015.

Particulars Rs.

Sales 12,75,000

Direct Wages 2,70,000

Direct Materials 3,30,000

Factory Overheads 2,25,000

Administrative overheads 90,000

Selling and distribution overheads 1,05,000

Production and Sales 30,000 units

On account of intense competition following changes are estimated in the subsequent year:
1) Production and sales activity will be increased by one-third.
2) Material rate will be lower by 25%. However there will be increase in consumption by
20% due to quality difference.
3) Direct wages cost would be reduced by 20% due to automation.

4) Out of the above factory overheads Rs.45,000 are of fixed nature. The remaining factory

expense are variable in proportion to the number of units produced
5) Total sales overheads will be lower by 40%.
6) Administrative overheads per unit would remain the same.
7) Sale price per unit would be lower by 20%.
Prepare a statement of cost for both the years ending 315 March,2015 and 315t March,2016
showing maximum possible details of cost.

Prepare Cash budget from the following information for 4 months from January 2016 to April
2016 of a newly started business by Mr. Vipul

Month Sales Purchases Wages Overheads
January 58,000 49,000 9,000 7,000
February 97,000 41,000 8,000 6,000
March 82,000 37,000 7,000 3,000
April 98,000 45,000 5,000 4,000

(20)

Additional Information:

1. Cashin hand on 1% January, 2016 was Rs. 11,000.

2. 30% sales are for cash and debtors get realised in 2 months.

3. 25% purchases are for cash and one month credit is available from creditors for
purchases.

4. Overheads are paid every month.

5. Time lag in payment of wages is half a month.
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Neeta Ltd. is considering the purchase of a machine. Two machines A and B are available. The
following information's are relating to the two machines. Suggest which one of the two is
recommended under:

a) Pay back method b) Pay back profitability and c) Average rate of return

Particulars Machine A Machine B

Cost 10,00,000 9,60,000

Life 4 years 6 years

Rate of depreciation 20% p.a. 15% p.a.

Method of depreciation | ‘Written down value Straight Line
Rate of Income Tax 35% 35%

Profit before tax and depreciation

Years Machine A Machine B
1 3,00,000 2,00,000
2 2,00,000 2,40,000
3 1,80,000 1,80,000
4 1,60,000 2,00,000
5 | e 2,40,000
6 | e 1,50,000

Answer the following in Brief: (any 4)

Trend Analysis

Functions of a finance manager

Profitability Ratios

Features of Preference shares

Break Even Point

Types of costs associated with accounts receivable

What is working capital? Explain the different types of working capital.
What is Internal financing? Explain its merits and demerits..

(20)

(20)

(10)
(10)
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From the following balance sheet and other information given, prepare:
a. Statement of changes in working capital and
b. The funds flow statement of Yeshwant Ltd. for the year 2014

Liabilities 31.3.13 (Rs.) | 31.3.14 (Rs.) Assets 31.3.13 31.3.14 (Rs.)
(Rs.)
Equity share 3,00,000 4,00,000 | Goodwill 55,000 50,000
capital
Reserves 50,000 60,000 | Land and 1,50,000 1,42,500
Building
Profit and 3,000 4,000 | Delivery Van 80,000 2,00,000
account
Creditors 35,000 45,000 | Stock 1,06,000 1,38,500
Bills Payable 20,000 18,000 | Debtors 45,000 51,000
Proposed 30,000 40,000 | Bills 25,000 12,000
dividend receivable
Provision for 35,000 40,000 | Bank 12,000 13,000
taxation Balance
4,73,000 6,07,000 4,73,000 6,07,000

a) During the year 2014, Rs.7,500 was charged as depreciation on land and building and

Rs. 20,000 as depreciation on Delivery van.
b) During 2014, dividend of Rs.30,000 and Income tax of Rs. 25,000 in respect of 2013 was paid.

c) Rs. 5,000 was written off against goodwill during the year 2014.

(20)
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